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10. (10 pts) Set up the following word problem (variables, system, augmented matrix),_For 10 bonus

points, so/ve the word problem. }utc‘ {l\ we o Nqﬂ "TQMJ- H—/
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Linda invests $25,000 for one year. Part is invested at 5%, another part at 6%, and the rest at 8%.
The total income from all 3 investments is $1600. The combined income from the 5% and 6%

investments is the same as the income from the 8% investment. Find the amount invested at each

rate.
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The combined income from the 5% and 6%

mvestments is the same as the income from the 8% investment.
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6. (10 pts) Solve the following word problem. (Take it all the way to solution.)

A shopkeeper orders 42 pounds of cashews and peanuts. If he orders 12 less pounds of cashews,

how many pounds of peanuts did he order? |

Let p = # of Ibs of P*"""“"’S/ €|
C- s v cashews.
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Uce sudshtution
C=p-l2, =7 P+C =P+ p-)1L =492
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